COCI '07 Contest 5 #3 Jabuke

Time limit: 0.6s  Memory limit: 32M

Ante bought a piece of land. The land contains IV apple trees, but his piece is triangular and it is not easy for him to
determine which apple trees belong to him.

Your program will be given the coordinates of the vertices of the triangle forming Ante's piece, and the coordinates of
all apple trees. Determine the area of land belonging to Ante, and the number of trees belonging to him. We consider
apple trees on the very border of his piece to belong to him.

The area of a triangle with vertices (2 4,y4), (g, yp), and (z¢, yc) is given by the following formula:

|z 4(yB — yo) + ze(ye — ya) + zc(ya — ys)|
2

Input Specification

The first three lines contain the coordinates of the vertices of the triangle.
The following line contains the integer N (1 < N < 100), the number of apple trees.

Each of the following IV lines contains the coordinates of one apple tree. All coordinates are pairs of positive integers
less than 1000, separated by a space.

Output Specification

Output the area of land belonging to Ante on the first line, with one digit after the decimal point.

Output the number of trees belonging to Ante on the second line.

Sample Input 1
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Sample Output 1
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Sample Input 2

A W N W R U W

Sample Output 2

Sample Input 3
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Sample Output 3

15.5
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